Math 580 Quiz 5 Spring 2012 Name

1) Let Yn) = maxi<i<p Y. If Y1, ..., Y, are iid random variables with pdf
fr(y) =2y for 0 <y <1, find E(Y(n)) #) /0 oAM= 2o / R
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where 0 <y < 1 and 6 > 1. Find a sufficient statistic T(Y") for 6.
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3) Let V1, ..., Y, be iid gamma (53, A) random variables with pdf
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where A\ and y are positive.

a) Show that the family {f(y|)) : A > 0} is a two parameter exponential family.

b) Show that the natural parameter space ) is a parabola. You may assume that
n; = w;(A). Is this family a regular exponential family? Explain briefly.
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